DESCRIPTION OF THE PERSON NAMED IN COLUMN 2 IS NOT THE OWNER.						
	OBLIGATION RI	EQUEST AND STATUS		No.:	02-101101-2	023-04
	VISAYAS S	TATE UNIVERSITY	8	Date:	April 14, 202	3
	Visca, Ba	ybay City, Leyte		Fund:	STF	
Payee:	JUDE ISRAEL					
Office:	DoPAC					
Address:	VSU, Visca, Bayb	ay City, Leyte			45%	
Responsibili ty Center		Particulars		MFO/PAP	UAGS Gode / Expenditure	Amount
DoPAC	PAYROLL FOR A	pril 1-15, 2023		-	27.4	3,980.00
			2 B			4
	¥		Total			3,980.00
A Certified: C	Charges to appropration/a		B Certified:		available and oblig	
	Control of the Contro	nder my direct supervision		*	ljustment necessa	ry as
	and supporting documer	nts valid, proper and legal		indicated a	bove	
Signature	407	ieve	Signature			
Printed Name	ELIZABE	Printed Name	Al	ICIA M. FLO	RES	
Position	Head, DoPAC		Position	Head, Budg	et Unit/Authorized	Representative
			-			
C		SITATIS	OF OBLIGAT	ION	2.	
Reference			OI OBLIGAT		nount	
	1,0,0,0			7 111		
. Date	Particulars	ORS/JEV/RCI/RADAI No.	Obligation	Payment	Not Yet Due	Due and Demandable
3		02-101101-2023-04	3,980.00		3,980.00	
		Totals	3,980.00		3,980.00	

DAILY TIME RECORD JOB ORDER

Name:

JUDE P. ISRAEL

Position:

JO-LABORATORY AIDE

For the Period:

April 1-15, 2023

Date	Moi	rning	Signature	Afte	rnoon	Signature
	In	Out		In	Out	
1			SATU	JRDAY		
2	SUNDAY					
3	7:50	12:00	· ·	1240	5:01	-
4	7:51	12:01		12:55	5:65	- Cont
5	7:59	12:03			then Ded	
6		,		IDAY -		
7		-	HOL	IDAY		
8				JRDAY	3.	
9	SUNDAY					
10			HOL	IDAY		
11 -	7:50	12:01	· Const	12:59	5:01	Sound.
12	7:52	12:01	- Cont	12:50	5100	" Comment.
13	7:49	12:00		12:52	5:06	- Combi
14	7:57	12:05		12:55	5:07	-01
15	SATURDAY					
16			SUI	NDAY		
17						
18						
19						
20						
21	المحجال لمرجال			L		L
22	SATURDAY					
23		1	SUN	NDAY		<u> </u>
24						
25						
26				-		-
27						
28						
29				JRDAY		
30	AL 7	days	SUI	NDAY	(位	

Certified Correct:

ELIZABETH S. QUEVEDO, RCh. PhD

Head, DoPAC





DEPARTMENT OF PURE & APPLIED CHEMISTRY

Visca, Baybay City, Leyte, PHILIPPINES Telefax: +63 563 7747 Email: dopac@vsu.edu.ph

Website: www.vsu.edu.ph

ACCOMPLISHMENT REPORT April 1-15, 2023

- a. Maintained the cleanliness and orderliness of all the glassware and chemical bottles in the stock room (AC-107).
- b. Assisted in releasing laboratory glassware and chemicals to students in every laboratory class.
- c. Prepared chemical solutions needed in every laboratory experiment.
- d. Assisted in preparing borrower slips and materials set up in every laboratory experiment designated to every laboratory class.
- e. Prepared the set of materials (glassware and chemicals) needed during the experiments of each laboratory class.
- f. Acted as proctor during the long exam of Chemistry Lecture and Laboratory subjects.
- g. Performed other functions as assigned by the department head.

Submitted by:

JUDE P. ISRAEL

JO- Laboratory Aide

Approved by:

ELIZABETH S. QUEVEDO, RCh, PhD

Head, DoPAC

Vision:

Mission:



DEPARTMENT OF PURE AND APPLIED CHEMISTRY GENERAL PAYROLL JOB ORDER

We acknowledge receipt of the sum show opposite our names as full compensation for services rendered.

April 1-15, 2023

N A M E Wage/day or Wage/month No. of Wage/month FUND Days GROSS CHARGING AMOUNT PREMIUM AMOUNT MP2 Propose Loan (MPL) Loan (MPL) Loan (MPL) WiTHHOLD MIT AMOUNT NET SIGNATURE *nothing follows* 568.70 7 STF 3,980.90 100.00 50.00 100.00 3,880.90 3,880.90 3,880.90 3,880.90		3,880.90		ı			100.00	3,980.90	TOTAL			
A M E Wage/day or Wage/month No. of Days FUND CHARGING CHARGING PREMIUM GROSS AMOUNT FUND PREMIUM PREMIUM MP2 Purpose Loan (MPL) Loan (MPL) Loan (MPL) Calamity NG TAX WITHHOLDI AMOUNT NET sing follows* 568.70 7 STF 3,980.90 100.00 STF 3,880.90 3,880.90 3,880.90 3,880.90 STF 3,880.90 STF 3,880.90 STF STF 3,880.90 STF		,										
A M E Wage/day or Wage/month Days No. of Days FUND CHARGING CHARGING CHARGING AMOUNT GROSS PREMIUM PREMIUM PREMIUM PREMIUM Loan (MPL) Loan (1										
A M E Wage/day or Wage/month No. of Wage/month FUND Days GROSS CHARGING AMOUNT PREMIUM AMOUNT MP2 Pripose Loan (CAL) Multi-Multi												
A M E Wage/day or Vage/month No. of Vage/month FUND Days GROSS CHARGING PREMIUM AMOUNT FOR FUND PREMIUM PREMIUM PREMIUM PREMIUM MP2 Purpose Loan (MPL) Calamity Loan (MPL) Calamity NG TAX MITHHOLDI AMOUNT ning follows* 568.70 7 STF 3,980.90 100.00 5 5 5,880.90 3,880.90 ning follows* 5 5 5 5 5 5 5 5 5 5 5 5 5 5 6 5 5 5 6 5 6 <t< td=""><td></td><td>-</td><td>7</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>		-	7									
A M E Wage/day or Wage/month No. of Wage/month FUND Days GROSS CHARGING AMOUNT PREMIUM PREMIUM MP2 Purpose Loan (MPL) Loan (MPL) Calamity Loan (MPL) Loan (MPL) WITHHOLDI AMOUNT sing follows* 568.70 7 STF 3,980.90 100.00 5 5 3,880.90 3,880.90 ing follows* 5 5 5 5 5 5 5 5 5 5 5 5 5 6 5 6 5 6 <td></td> <td>*</td>												*
A M E Wage/day or Wage/month No. of Wage/month FUND Days GROSS CHARGING AMOUNT PREMIUM PREMIUM MP2 Purpose Loan (MPL) Loan (MPL) Calamity Loan (MPL) Loan (MPL) WITHHOLDI MG TAX NET sing follows* 568.70 7 STF 3,980.90 100.00 5 5 5 3,880.90 3,880.90 3,880.90 5												
A M E Wage/day or Wage/month Days CHARGING AMOUNT PREMIUM MP2 Purpose Loan (CAL) NG TAX AMOUNT NG TAX AMOUNT NG TAX AMOUNT NG TAX AMOUNT		-										
A M E Wage/day or Wage/month Days CHARGING AMOUNT PREMIUM MP2 NET Loan (MPL) Loan (MPL) Loan (MPL) NET AMOUNT NG TAX AMOUNT NG TAX AMOUNT			1									79.
A M E Wage/month Days CHARGING CHARGING MOUNT Wage/month Days CHARGING AMOUNT REMIUM MP2 Premium MP2 Loan (MPL) Calamity Loan (MPL) Calamity NG TAX AMOUNT AMOUNT 3,980.90 100.00 3,880.90						,						
A M E Wage/day or Vage/month Days CHARGING AMOUNT PREMIUM MP2 NGT (CAL) NET AMOUNT PREMIUM NP2 NG TAX AMOUNT NG TAX AMOUNT NG TAX AMOUNT												*nothing follows*
Wage/day or Vage/month No. of CHARGING AMOUNT PREMIUM MP2 Claim (MPL) Calamity Loan (MPL) Loan (MPL) NG TAX AMOUNT		3,880.90						3,980.90	STF	7	568.70	Jude P. Israel
PAG-IBIG	SIGNATURE	AMOUNT	NG TAX	Calamity Loan (CAL)	Multi- Purpose Loan (MPL)		PREMIUM	AMOUNT	CHARGING		Wage/month	Z > M
		171			3-IBIG	PA		2000	1			

	EKITED:
	Service
	nave
	s have been duly n
	duly
	rendered as
7)	as
The	stated.
<	

ELIZABETH S. QUEVEDO HEAD, DoPAC

3,980.90

APPROVED FOR PAYMENT:

EDGARDO E. TULIN PRESIDENT

CERTIFIED: Funds available in the amount of

OIC HEAD, ACCOUNTING DIVISION

NICK FREDDY R. BELLO

have been paid the amount opposite his/her names CERTIFIED: Each employee whose names appears above

QUEEN-EVER Y. ATUPAN

HEAD, CASH DIVISION